AR E BN BT A IR E GERL. # RS

SHHES LRgEE S Frk B
51 0sksksskskskskskosksksk 7120 20t L
B1 1skskskskskskeskskskskk 7718 29t L
51 Ikskskskskskskskoksksk (002X 29t L
51 sksksksksksieskskskskk (0225 29t Lt
51 3skskskskskskskskoksksk 362 1 20t L
51 0%kskskksksksksksksksk 5120 20t L
51 0skskskskskskskskskoksk 742 1 20t St
51 Ikskskskskskskskokokok (0028 29t Leif
51 3sksksksksksksksksksksk 6120 20t Lt
51 0ksksksksksksksksksksk 2665 20t Sk
51 0ksksksksksksksksksksk 694 7 20t St
51 0sksksksksksksksksksksk 0028 20t St
51 3sksksiskskskskskoskeksk 8023 20t St
51 Ikskskskskskskskskokok 1 680 29t -
51 Iskskskskskskskskskokok 5575 29t -
51 Ikskskskokstokoskodoksk | 632 29t -
51 Ikskskskskskskskskokok 1 226 2:1F Ltz
51 Iskskskokstoroskaoksk 002 1 29t -
51 1kskesksksksksiskskokok (094 3 29t -
51 0sksksksksksiskstokeksk | 522 251 P
51 3ksksisksrstksiokeok 1 564 231 P
51 Lskskswskskstokstokkk 3227 231 P
51 3sksksksksrsioketokkk0 165 231 P
51 0skskskskskstoketokekk6 426 231 P
51 0skskskskskstosketokekk 7426 231 P
51 3sksksksksrsioketokekk (052 1 231 P
51 0sksksksksksteokstokekk4 342 231 P
51 0skskskskskstosketokekk 3020 231 P
51 3sksksksksrstokstokkk 2465 241 P
51 3sksksiskskstoksiokkk9 26 1 241 P
51 0skskskskskstokstokekok 502 1 241 P
51 Tsksksisksksteokstoksksk 7022 241 P




AR E BN BT A IR E GERL. # RS

SES i ERhEE R FEE
51 Dkstskekstokekatokokk 5329 {a] #i 23 Lo
51 3sksksrskskststokokakok 2600 BHFARE 21t Y AR
50 0skskskskskskskskokskok 820X i e 21t Y AR
51 0sksksksksksiesketokeksk00 78 e 24t £t
51 Lseskskoskskststokokokok 7845 TG 23 Lo
51 0sksksksksksiesketokkk 3722 B 24t £t
51 0skskskskskskeskstokatok | 82X W5 e 2:1F L2
51 0skskskskskskskskokokk499 | g 21t L2
51 3sksksksksksiosketokekk 0025 2% 24t £t
51 3kskskskskeieskstokaok [ 424 25 [ e 2:1F L2
51 Ikskskskskskskskskokok 1 027 25 P 24t Lt
51 0skskskskskstskskokkk 31 27 YAy 21t L2
51 Ikskskskskskskskskokok (0220 Zs iU g 23 Lt
51 3kskskskskeioketokkk 3163 ] 24t £
51 0skskskskskstoketokekk 364 2 A 2t £
51 Dsksetstokekekotokok8 1 2X B VeIV 23t Ltz
51 Dkskskekstokkstokakk 6560 25 S B 23t Life
51 Dkskskekstokekstokokk 1 026 2 23t Ltz
51 3kskskskskstoketokekk 2018 2% il [ 2t £
510ksksksksksisketokekk 0025 A 24t £
51 3skskskskskskskskskskesk 3426 BTSN 23 L2
500sksksikskskskskoksksk 694 2 B I 23 L2
51 0skskskskskskskskoksksk 1 723 2SN 23 L2
51 3skskskskskeskskokskoksk 562 1 2 rta 23 L2
51 0sksksksksksksksksksksk 3677 A 23 L2
51 0skskskskskskskskskeksk 0060 A 23 L2
51 Tssksisksrsioketokekk 092 1 Zs i 24 £
51 0skskskskskstokstokkk9 1 8X B aY 24 £
51 3sksksksksksksksksksksk Q8 G X s A £ i Lt
51 Lskskstskskstksiokekok 206 1 A 5K 2t Lt
51 Lskskswsksrsiokstokkk00 10 7 2t Lt
510skskskskskstoketokkk 3265 3 T 2t Lt
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AR E BN BT A IR E GERL. # RS

SHES 4 LR Atk
51 0sstsrskskststokokkok 6285 MY PH 21t Y AR
51 0sksoksokokiok k2903 R sk =it =it
51 0skskskskskseskstokakok [ 101 1Bk 23t Lt
51 0skskskskskekeskstokakok 224 X XI) & 23t Lt
51 3ksksksksksisketokekk 0025 X1 B Bk 23t Lt
51 0sksksksksketsketokkk 3820 I ik 23t Lt
51 Isskskskskstoksdokkk 6782 X1 H 24t Lt
A60%ksksksketskekskekskok (00 14 XIJ K- gy 24t £t
51 2skskskskskskskskskskk (0026 B 24t Life
500kskskskskeksketoskekk 002X 5 i 24t £t
51 Qskskskestestestestesteskskok (0042 B 21t L2
51 3skskskskskakstoskskkk4 205 BERE 251t L2
51 1skskskskskskskskskskek 7049 e 24t Lt
51 Ikskskskskskskskskokok | 368 — N 23t Lt
51 Dekstotoksitokokk [ 307 A 23t Life
51 Diekstokoksietokok k894 2 T B 23t Ltz
51 3sksksksksksiosketokokk 7662 TR VL A 24t £
51 3skskskskesksisketokekk 3007 TR 24t £
51 Lisksekstokekeketokok 3924 T 23t Life
51 3skskskskskskesksksksksk (0167 A 20t Sz
51 Lsskswskskstokstokkk68 17 LA 23t £
51 0ksksksksksksksksksksk 1 161 1EE5E 23 L2
51 Ikotorioltoiok0023 ESIR 2t it
51 Lssksisksrsioketokekk0 700 RIE 23t £
51 0%kskskskosksdokskokskx (0452 iEL =1t >t
51 3skskskskskstkstokkok4 264 PMVeR A 23t £
500skskskskskstsketokekk 2268 Y3 23t £
51 Isksksksksksioketokkk 3926 EKN 23t £
51 0skskskskskstskstokakk (07 24 MG 23t Lt
51 0skskskskskstoskefokekk 5522 EE L 23t Lt
51 0skskskskskstsketokekk6 082 vk 23t Lt
51 3sksksksksrstoketokkk (0225 JEiki 23t Lt
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AR E BN BT A IR E GERL. # RS

SHiES 4 TRk E F AT
51 Iskskskskskskskskokokok 8717 I 24t 2yt
51 Lseskskoskskststokokokok 8848 ERIAG 23 Lo
51 0ssksrskskststokokakok 0260 B2 21t Y AR
51 Jsksksksrosiokk k5800 B it Dt
51 Ikskskskskskskskskokok 4806 FE RN fAp 23 Lo
51 Ikskskskskskskskskokok 1 926 PR 5 23 Lo
51 Jskskkstosotokkok | 818 W) 52 it P
51 Ikskskskskskskskokokok 3989 T 24t Lt
51 ekttt 00 39 EF 2=t Lt
51 Jskskkstostok ik 3989 A it P
51 OskskskskokoskokodoskskokQ 742 TAEZe 2x1t N
51 skttt 1033 T ik it P
51 3skskskskekkksskskok 0025 TEE 21} N
51 3sskskskskskskkskskk 462X R A 21t AR
51 Dkskskekstokokatokokk (084 1 ERE 23t Life
51 0skskskskstoskskstokskk 202X T 2=t Lt
51 3skskskskskkkskskskk 0046 FEFF 2=t AR
51 0skskskskskskskssksksk 6007 EFIh 21} AR
51 Qskskkstostrkkk 3305 S L3t P
51 Qskskokstoesotokokkok (0323 SE L3t Lt
51 1skskskskssoskskskok (034X TR 2=1} N
51 Qs 1 327 B 2oit e
51 1sksksksksksskskskkk 258 1 ficf FH 2=t N
51 Qskskokstosostokskk 5424 e L3t Lt
51 skttt ] 362 W Jy L3t Lt
51 3sksksiskskskskskoksksk 6666 1 e 45 23 L2
51 Qs k 2029 M B2 L3t Lt
51 Qskskokstostokkkok 5945 i L3t Lt
51 Qskskkstsstskskskok 4 1 29 R L3t P
51 Iskskokstoksosioksk 0624 R T L3t P
51 Qs 1 762 BT L3t P
51 Qs k 5826 BB R L3t P
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AR E BN BT A IR E GERL. # RS

SHES 4 LR Atk
51 0%kskskskststotokskoksk 3027 (B 21t Y AR
51 3kskskskststotosksksksk 1 326 e[ 21t Y AR
51 0%kskskskststotokskok k6426 1517 21t Y AR
51 3sksksrskoskokkdokk k2428 T2 21t Y A=
62 2%kskskskskokokkokk()24 6 YFiHE 23 Lo
51 3ksksksksksisketokokk 7236 YF 20 24t £t
510%skskskskskkkskkxd ] 20 pas) 2t AR
51 Ikskskskskskskskskokok 3049 (% 23t Lt
520skskskskskskskskoksksk 3228 Rk R 23 L2
51 Iskskskskoksdokskokokk 3483 BH 23 Lt
51 Dekstokoksitokokk 7310 iR 23t Lt
51 0sksksksksksiesketokeksk 002 1 T L 24t £t
51 0skskskskesksisketokekk4 320 ALl 24t £t
51 3kskskskskeioketokkk 3985 i 24t £
51 3sksksksksksieskstokakok (042X WU 24t £
51 0skskskskskstsketokekk 0307 W 24t £
51 Lsksekstokekeketokok 282X e 23t Life
51 Dkskskekstokkstokokk (0325 Wz 23t Ltz
51 Dkskskekstokekatokakk (0022 /N7 23t Life
51 Iskskskskskskskskskokok 330 5 W 23t Ltz
350skkskskdokskdokkk 311X H- 21t 21t
51 0sksksksksksiosketokekk 0025 5 23t £
51 3sksksksksrstoketokkk 2102 /= 23t £
51 0skskskskssksksksksksk 0424 R 21t AR
51 3skskskskskskskskskeksk (0020 = 23 L2
o1 Isskoleksititcdolk 4 36 3 PR 21t Fe
51 Lskskskskskskoksksksksk 002X EiFs 23 L2
51 Lskskstsksrsteksiokekok (0 02X a0 23t £
51 1sskskskskstoketokkk 5282 e 23t Lt
51 3skskskskskstokstokkk5 187 ik /NH 2t Lt
51 3skskskskskstoketokkk 2722 KT 2t Lt
51 3sksksisksrsioketokekk4 780 keI 2t Lt
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AR E BN BT A IR E GERL. # RS

SES i ERhEE R FEE
1 40sskskskskskstoskokkok 3229 g 24t N
510sksksksotototototeek2 1 29 & FF 21t Leif
51 3skskseskstskskstokokk 00 20 XA 24t Lt
51 3skskskskstststorskokok (004 1 X 21t Y A=
o1 Ixsttsieleaietitokk 008X XA R =it S
51 Ikskskskskskskskokskok 2 26 X XL ) 23 Lo
51 Jskskskskekkskskok 3040 phig 21} N
51 1skskskstooktotokskk 2 1 87 Bh 21t A=
51 Lkskskstokstoksokskk 2268 JE 1%, 2t AR
51 1skskskskskskskskskskok 7649 gyt 2% 23t Lt
51 Ikskskskskskskskokokok 31 28 oy 23t Lt
51 Lsksetstekekeketokek (00 1 X M 23t Lt
51 Lsestsroskskstestokoskokok 0027 A5 AE TH 23 Lt
51 Dekstotokaitokokx 9793 A% 5 23t Lt
51 0skskskkstskokstokokk 5386 E it Lo
51 0skskskskstskokstokokk 3465 AN it Lo
51 Ikt d088 Rk it it
51 Dkskskekstokekatokokk 002 1 %75 it Ltz
51 Lsksekstekekekatokek (002X %02k 27 it Life
5 1 Qetetetetetetetotoek 4826 Rk Gih7 FRe
51 Tskskosksdokstokokokskk ] 52 BT IH it it
51 Ikskskkstoskkstokek 5384 X3 BE Hit Lo
51 3sksksekstskekstokokk (004 1 B Hit Lo
51 0skskskskstskkstokokk 440 R ] Hit Lo
51 3skskskkstskistokkk8 1 6X 75 Hit Lo
51 Iksksokstoskokstokokk 230 1 HAACIE Hit Lo
51 3skskskstskokstokokk 7329 B &M Hit Lo
51 Iskskskkstoskistokoik6 1 44 P Hit Lo
51 1sskskskskskskskskok 2094 =2 GiRan N
51 3sksksekstskekstokekk (0049 EIN IR Lot
51 3skskskekstoskstokkk 271 1 FERIN IR Lot
51 0skskskekstskekstokok k4866 T ik IR Lot

6/22




AR E BN BT A IR E GERL. # RS

SHHES A4 R aprivv a4 FAER
51 Lsskskoskskstestokokokok 7325 25 Fy i G:han Lo
51 3skskskskstestotorskokok [ 521 PRI it Y AR
51 ksokptokiokk 7887 X155 | Hit S
51 Dskskskskotototokkk 4275 X Hi B it Lo
51 0%skstkskstoksotokk 002 1 Xl T-1E it Ot
51 Lstoskskstestoroskateokok 00 3 X 2T IR G:han Lo
500skskskskskskskskskkk 7727 2MH it L2
51 Dkstskekstokekatokokk 7029 A ] B 1t Lt
500skskksdoksdkskokkk 744 | FH 75 4% it 2>t
51 3skskssketsoketokokk 4836 FEH Bt L2
51 0skkttotiok:9040 g Bt Fea
51 Stttk k4829 T % Bt i
51 Lstskoskskstestokoskokok 1 522 T B 1t Lt
51 0%kskskskokskokkokskx 7967 F/N it it
51 Lskskskskskskstskskkok 4410 T it L2
O] Ietetetetetetetotoek 8927 LIRS Gih7 FRe
51 Isskskskskskoksdokkk 7360 EWiFF B 1t Lt
51 0%ksksksdoskstokskorsk k642X VU5 BE it AR
51 Ikskskekstokkatokokk (0266 VEH IS B 1t Lt
51 3sksksdkskokokokokokk 3823 ek it L2
51 1ksksksksksksksksksksk 6962 XA it A=
51 Lskskskoskskskskskosksksk 0068 R it AR
51 1skskskskskskskskskesksk (01 00 oK O, it A=
51 0%kskskskskstokskokokk 0868 KT R it A=
O 1 Qetetetettetetetoek 3726 ISaR Gih7 Fe
51 0skskskskskskoskskskoksk 1924 2K N 7 it A=
51 Isksksksketosksketokokk 1 923 pA = Bt L2
510ikipirirk0119 g I i A IR T
1 Iktloniok k8949 e g 7 A IR T2
510kt RH05 16 BRI S P B A PR TR
51 Lictictokiotiok6899 i I I 5 R WL 172
51 Biebiictiitr 6534 {385 g 7 A IR T2
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AR E BN BT A IR E GERL. # RS

SRS 4 LRhEE T FrA
500ksksokksotkskk5 343 MES PEER O Bz FH 43 AR VBRI T A2
51 Ltttk 207 1 P E /N INAZEES % YUK TR
130sskstokstoloteonsk09 10 e L /L INAEES PR L AE
51 Liskstokstototolotolok 209 1 LELE /R IVAREE %S VBRI T A2
51 Lisksokstokotolotolok 06 1 2 &S /R IVAREE N PIEK I A
51 Liststoctomtorkok 3914 R /R IVAREE SN VIR T A2
51 0ssksckskskkx 0317 PR /I EINAEES %N YIERIN T. A2
51 3seksoksokotokotokk 1913 R R PR I B FH AR PIER I LA
51 0sekstokstokstokotokk 5557 gk PR B FH AR PIER I LA
51 Dsstoioiookk004 1 B /L IVAREE S VI A%
51 1 setsokomsiorieskk 5030 A5 PEER I B FH AR VI A%
51 Tsokotortotorkokk 2473 i /N EINAZEES TN VI A
51 Lisksokskokoniok5 1 8X JE /I EINAEES %N PIER I LA
51 1 skstoiopsotonior 382 1 IF Fa] 3] SN EINAZEES TN VB A%
51 3skewsiototsokosiokk 482X e SN EINAZEES TN VB LA
51 Tskstsototiototokokk 3217 TiE R SN EINAZEES TN VI A
51 stttk 7020 XK SN EINAZEES TN VB LA
51 Lekstokotolotoleotolok 3824 X T /L INAEES N PIER I LA
51 3ok 1096 X B SN EINAZEES TN VB LA
51 1tttk ] 023 ] PR I B FH AR VB A%
51 Oskotsotolosototeiok00 37 BiaTE BREFE TR Yk %
51 3skskskstoksksksk k66833 ATy L BRer IR YIECI T2
500%sksksksksskstoskokok 401 3 = Fii bR BHEFE I K Wi TR
510tttk 71 36 > BRI R VI T A%
51 Jskskokstoesotorokkok 493 3 [Fi) 4 BRer IR YIERN T F2
51 Tsksksksksksosskkk 7475 SRS B IR YIE I T A2
51 [ ksl k652X TKIH B BRer IR P T A2
51 Qsskosestsiskskok k0375 TKIE BRer IR P T A2
51 Jskskokstokseostokskok 1 524 B BRer IR YIERN T2
51 Lotttk (0045 &9l BRE ST R YIEk M AL
510%s5skskeksksksskokok 2863 L) [GES=gE i B
51 0skskskskssttskskokok 5924 I HE EES-gL i e H
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AR E BN BT A IR E GERL. # RS

SHiES 4 LRhEE T F AT
51 0skskskeksksksoskskskok 072 1 I R F] EES=gil =gl
51 skttt k 228X I ES4s GE A== i B
51 0skskskskokokoskokok8 748 Fh s EES=gi =gl
51 skskskstotsotokkok 2480 Xl — GE A== i B
51 sk 8 1 2 1 1|k BB EE st i B
51 skskskstosottokskok (0022 2 g g i B
5 10skskskstsksksistoskok k5820 353 [GEScsti i B
510%kskskdskstoksokskok 3523 PIID TH 45 i B
5 1 0skskskskseskskskskokok 5 54X INEE [GEScsti =gl
5 10skskskstsksksistoskok k5922 RS [GEScsti =gl
51 1skskskskksksksoskskok 6640 [E523 EEScEi i B
5 10skskskstsksksisokok k6986 FFF [GEScsti i B
51 0skststtostestosskskok 0 70X T Bk i 4% PR SR B
520kttt ] 630 TR i 45 PR il
51 1 skoksolotlotoiokk 89 28 kR i 45 PR il =
51 1skskskskskskskskskskk 0029 B Sr e S=gil i
51 3stoksotottotaokk (0027 Tk 5 i 45 PR il =
51 1 sotsolotlotoiokk 2568 KRALER i 45 PR il
51 0sksksksksesesedotokk 2 1 48 [T Eﬁ%éﬁz?}gﬁ T KRR H# 5 N
51 Irtrsi319 WL FRBE NS oy e sm 5
51 0tttk 041 X TR ﬁ%ﬁ%ﬁ DTSR g 5
51 Isstoksoietotiokokok 6410 LR N ﬁ%@?ﬁ? T REHEE 5 N A
51 Ttttk k 2093 R ﬁ%@?ﬁ? R It
51 1sstsototototookok 1927 2= ﬁ%@?ﬁ? P b REHEE 5 N A
51 Tskstsoteottteotetkok 004 7 P EIR ﬁ%@?ﬁ? R It
51 Isksksotokkkkk 6 380 FH/ ﬁ%@?ﬁ? TS KA H# 5 N
510%kxxkkkkk %8819 A Hn ﬁ%@?ﬁ? TS KA H# 5 N
510%kxkkkkskk k%4844 LS ﬁ%@?ﬁ? T KA H# 5 N
51 1 otsolotsotoiokk (08 14 JE B ﬁ%@%ﬁ DT e 1 7
51 0sketsioteotsiototsiokk 21 7X J ﬁ%@%ﬁ PSR o 5z
51 3sksksksotokokkkk 4807 NS ﬁ%ﬁ%ﬁ BT KA H# 5 N
51 1skskskskskektooskokok 5 746 AR A ﬁ%@?}gg prh KEHEE B 5 N A
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AR E BN BT A IR E GERL. # RS

SHiES 4 TRk E F AT
51 Qskskkstosostokskk 351 4 SEIE W 8 Y T E
51 ksokiok ok k7289 AR DR W E
51 sksoksok ok k0449 B2 DR W E
51 ksokiok ik 8167 WX TmE W E
51 Osksksksksksksksksksksk [ 323 BEEF] TidmE e
51 0skskskekekkkskskokok 6828 TR s e
51 3sksksksksksksktoskokok (00 37 1T 8% DR E=% e
51 0s%sksksksksksksoskokok 5987 LAk R DR E=% e
51 0sksksksksesksesksesksk 29 2 X I e T E
500ksksksksksksksteskokok 7042 EAE 37784 TmE s
500kt kAk k4689 TR TImE T E
51 1skskskskksksksoskskok (185 S 7 E e e
51 0%sksksksksksksoskokok 3826 i 37784 e
510k kok k2657 ESES NRZE: T E
520kl k%6035 ¥R 5 WE W Wi E
51 Qoo k k9 1 50 ¥ e i DiEZE=%: Wi E
51 0skskktokotokk 1 872 B 7 TE T E
51 Qsokskatoskokk 1 770 I SER, DiEZE=%: Wi E
51 1skskskskskskssksksk 053 1 C e e e
51 Iskskskskesksskskkok 422X 2T e T E
51 0sksokstokotok k0026 AR Y P Y B
51 0%kxxkk%555%5820) 1o k=gl Vi e B
51 Issksksksksksskokk 1970 10 AH YR k=gl Vi e B
51 Lskskskskstokdok k2785 WIGER Wi B Yy
51 0skskskskstsksksiokokk 848X AR e % Wi s L MR
51 0skskskskstskokotokokk 4997 TEIRRR Wi B Yy
51 Lsksksketsskskoksokk (00 1 4 I Y Yy
500%kxxk%%55%%8206 EAu Y M= Vi e B
510s%kskskskskskskstokokk4 118 W Wi s M=
51 Jskskokstoeseotstkskk 582 | Wk B ViR B ViR g B
51 1sksksssskskssksksk (0023 ¥ B s k=gl M=
51 0%skskskskskskseskokok4 21 7 KA Y MR M=
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AR E BN BT A IR E GERL. # RS

SHiES 4 TRk E F AT
622k kA kA K A520) K—MN YhinE B Vi g B
330kskskskskskektkokok (0023 B AL S e G fiheg
51 kskksokkkiokk %362 1 XI5 45 S e T ol
51 Lsksksokopsoiokk 2029 DpE R BRI
51 0%skskskoksksksoskokok 7416 ok S e G fiheg
51 Isokskkaorkkk 3088 Wk =g b
510%sksksksksksksoskokok 66 16 7 & b 4R G
51 1 etsoksioriok k0036 RN ZUFESEARGNA | WENRE SRR
51 0otk k9 1 53 RS ZUFESEARSNA | ENRE SRR
51 1sksksksksesesekk0 1 06 i ~HEEARENH | HEIRZESEAR
51 1sksksksksksksksksksksk 1 43X =5 ~HEEARENH | HEIRZESEAR
500%skskskskskksskokok 5626 [ BT 5% HL 7 45
51 0skssoiopsokk 29 14 R &t BT 5% LT 55
51 1 sekekstototokotsiekk 3068 P g = TR %% HLF %%

51 1skskskskskskskskskkk 862 | =l 7% HL 17 55
51 1%sksksiokiokx 1003 faf=% TR %% HLF %%
51 sksettortiotkonk 4604 W K A PR % HLT 55
51 3skskskskskskekktokok 020X FEASKIE] H T 5% HL 17 55
51 0skktokkok k0042 2= A Gk L 7 55 L1 7 55
51 3ok ok k2 ] 8X ZRAT L 7 55 L1 7 55
510%s5skskskssksoskokok (01 26 XIfEG BT 7 5% HLF 7 55
51 0%s5skskekssksoskokok (0363 Xl A HL ¥ 151 5% HL ¥ 151 5%
500sskskskstskskskok kG228 X GESR LT 7 55 55
510s%skskskskskeksieskskok 1 360 WEIN BT 7 5% LT 5%
5 10skskskstskoksstokokx2 1 23 itk B 17 5% HLF 7 55
51 Lsksksstoskoksstoskokk (04 13 BR 5 B 17 5% HLF 7 55
500%skskskskxkkkk k0828 FAivE B %% B 5%
510skskskskskskekeksieskok 026 X % BT 7 5% LT 5%
51 0sskstotootok k0925 TR L7 45 LT 7 55
510%kxxkkk55%%6900 Y LT 5% W 55
51 3ssksksksksskoskokok 5120 N HL T 151 5% HLF 7 45
51 stttk 004X IHETE LT 7 55 LT 7 55
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AR E BN BT A IR E GERL. # RS

SRS 4 LRhEE T FrA
51 0sksottosetototokock0 19 &SV L 55 HLT 55
51 0kototottotiolk8 1 22 K L7 55 L7 55
51 stttk 0620 a7 TR % HLT 55
51 3tk k(029 18 G FLIR B B T & AR
51 seksoksoktokotkk (026 i H 3l S I K AT
51 0%skskskskskskkkkk 4597 TR ES s H K AT
51 Qskskskessesostekk 717 FEFERE 5 N I K A THE
51 0skksksokkksoknkx ] 152 TR BB K B TR
51 Jskkokokkokk ] 442 WG 5 N K WA TRE
51 Ttttk 0213 ZEIT B NI K WA TRE
520skeksolotlotoiok k5216 XU H 3l R K BT
51 3sekstokstoleotietsok 007 1 et B 3l R K BT
510sstsokptotokk 951X J# 5 R 2D 3 BT
51 Qsokskatorskk k40 1 0 FHZ5 s N T A WA TR
51 1wtttk k00 30 TR B BT & AT
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